H-EHEL »rs 2R

Kk at W [E40E)

Python |2 & % #tat A 2
PYE AR I el

BIENZHEV T, Python % fif o 72 JEA Y 22 i R HL B
BB L2V ERS . Mg, BRSO EEE LT,
BRI = 2—F NV Ay VT =2 2o TAHA LY.

LIRE

XEIZ: ¥, HRERA U AN—DMBEH 054 DS, AR
NOWMTI LR X 20 LA L E ATV nh LS
PreREL L) (R, RERSUITHARANOLAIR
TR EM U A TH AT, FVARGIE THRAD
WA R E R oA TH D EIEFER Ve R 5.
FERL(n)1d X ¥ N — DRFH(N)S0 % OWERT, W
() XHRANOHRILE W) DxHsh 5. HFFE
Bz, L, MEENLBRILEY 25, FiEHoE
BIZES LR LAEDD, 2F 0, Npo 7.

F 1. WFRE X v N —DIMER O

AT BXY ABT Ol &t
R 15 9 10 16 50
WIfsfE%|  0.38 0.22 0.09 0.31 1
WfEH] 19 11 45 15.5 50

BE : OXQIYRENTELEY 2 —VEHETATLE
1. il - 72 scipy.stats €Y 2 — )WIZH B 97 ?

A S At "Python 714 23MiE scipy.stats” THEK LT
H 5 &, scipy.stats.chisquare() Z > T\ % H D372
CEARSPY F LT

X#IZ © L% kid “scipy.stats.chisquare” THRE L5
Scipy DR — LA R—=TIPEROP LR ?

BE :®» Y F L7 “scipy.stats.chisquare — SciPy v1.2.1
Reference Guide” - T, HEFHEOR—TIPHONY) F
L7z

Xz T OR=VIZIENTAFIH SN T 5. 72k
A1, “Parameters:” &\ 9 & T AHIZ

f obs: array like

Observed frequencies in each category.

f exp : array_like, optional

Expected frequencies in each category. By default the
categories are assumed to be equally likely.

ddof : int, optional

“Delta degrees of freedom”: adjustment to the degrees of
freedom for the p-value. L T ..

axis : int or None, optional. LA Tl ..

EHHLDOEMHLTHLD.

BE : HiERATT I &

AXA : (EHLT) —DOHDBIHS obsld, I
AT A, array likek W DL, A ME
RCUVoTIETLE IR ? &4 5 E[159,10,16]
2% % ATY .

XAz - ROTf exp3WIFFER O Z & 7242, optional &
WIDIE, BELZLTHVLn, bwy e L
f expZiaE Lo oaid, HIfFEREHELT
b, EENTHS. VA MEAT[19,11,45,15.5]&
FBEL X 9. 5D Oddof & axisid optional 72 % 5,
LDHZTEEL TR -oTALY.

In[1] : from scipy import stats # € ¥ 2 — )V DA
In[2] : stats.chisquare([15,9,10,16],[19,11,4.5,15.5])
Out[2] : Power_divergenceResult(statistic=
7.944092881274545, pvalue=0.047181378964290865)

AZA BT OERIEE L= D Returns: &9 & 2
BB DHHRINTTITE, SEEb2 ) T WTT A,
C OpfiEild, WiOMWTREZ M- 72D & [ UIZ7% -
TE 71

BE BT &I, v iE-720, WML
wo72), RELL 94

AZA RIZHBZIVHIEZAHEDYFTLAL, EET
ELETL Lo TWBLALEDLS, XHIFEARVND.
HOALo2h) LTwiud, MiEiwEw) 2 &T
9 1.

Xz 2o 2. #nd8ie s, BT, BOIC
HolzbDEESL L% v, Python % iR L CTw
L, TELXINITHREHIH LRV,

B# : TX 5% FTIZ, HERIKROZ 9 TI1a.

ZERBN
PR NA R (HR)
AW 978 105 (2019)
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ASA  RFEL2WTT A

Xz TlE, MioOMELR->TAL). TITH
HOTFT—% %) (£2). TORI2725TH 5
DOT2 X 23EFL XD, ZoflTid, HEFEAZ
BB L OV REDSH o7, nd) T ERRDLAE S
7R dé, RERFGIE, 7B EHEB M LT
Wwn, oF 0, BEEIE VWA

F2. WA LBIEB ORI

FEIR D Y
A e L
Bk A 200 125
3B 56 250

X#HE: Le, EIRoTEITTEDHIMRTAHALI b

B# : "Python M PEKE" THMEL TAL L, scipy.
stats.chi2_contingency % fi 9 & 72\ T3 4a.

A & A :scipy.stats.chi2_contingency” % #l X % &,
Scipy DX—TV 9% ) ¥ L7z, Parameters: (21X FRED
EICENTHY 7.

observed : array_like

The contingency table. The table contains the observed
frequencies (i.e. number of occurrences) in each cate-
gory. In the two-dimensional case, the table is often
described as an “R x C table” .

correction : bool, optional  #%

lambda_: float or str, optional.  #&

“The contingency table” ([77#IZ]) %1 A MEAT
BETH5T, ) FTHIREVVATTH?
B# : ZRItoOBHIE, [[200,56],[125,250]] 7202 5 -+

In[9] : stats.chi2_contingency([[200,56],[125,250]])

Out[9] :

(120.41864493230997,

5.122501872713255¢-28,

1,

array([[131.85419968, 124.14580032],
[193.14580032, 181.85419968]]))

B# 1 ) Fwolidl, Ik, BOETFA-

AZA: E5EDXR—YDReturns: #ATHT L &. Hi
7 BN chi2 (77 4 23Ffi), p (pfi)), dof (HHEE),
expected (IfEfH) DIED L 5 TTH 5, 220HOEK

630

FHOPpMHETI R, COLFIMEET Y, TIA.
TERAREL

X Iz - WG aHr & AHBR L, X TW D7k,

BE :bBE5ATY.

X 22007 — 5 BOFUEOTRED 1D 0 H B 1R
¥z mUEAATCE, SEBEREEBERDH - T,
HAMR ST & BRI T Db, HLRSHT X
G ORER T GRIER» 1 >O84) L%
AL, ZERITICHETE 5.

A ZA RS HTZExcel TITH DA, fliHi7Z572AT
T LA

X¥AZ 20O 1ZH, WAHAWALRBMTHRET S &
#EZ5HE, RI1EV, PythonTdT& 5L H1lho
T39I 25,

ASAIZEH)TTARA. TH, ERTHIFET HLMML, o
722 EEBnWTT L.

BE b, 29 TIH

XBIZ:THEHR-oTAHAL). CHTD¥PydatallT —
FHRAoTWDLELT, F—%%itkird ). Shfl
9 7 —% 7 7 4 )V ®metabolome.csv (& EW T.2=5D
HP» 54w yu— L&Y, 30MEOHAREDERER
AERfE (taste) & 10FEHDMREW D X & K — L5547
WROF—571. ZOF— ¥ ZRKOBIGEEE»S
Pt niz 72w,

ASA, BE BEDYNE)TSET |

In[1] : import pandas as pd ~ #Pandas D Fi 3A A
In[2] : data=pd.read_csv(‘C:¥pydata¥metabolome.csv’) #
7 7 4 Wi AihA

X#HIZ : data 3 b TN DHER L TH LS.

In[3] : data.head()
taste glutamine methionine

0 599 2162.3 300.0
1 382 1939.8 243.8
2 556 2101.8 357.2
3599 2552.3 301.2
4 522 2051.8 285.7

ASAETIE, T2 HAINTHRALTATT.
taste & glutamine @ HLELAS VT A A,

AR 978 551075 (2019)



In[4] : import matplotlib.pyplot as plt # pyplot Z £ >~ F—
In[5] : plt.scatter(data[‘taste’], data['glutamine’])) ##Aii
#7uvy b
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AZA I —A. HEYENRCLRBEF{TERVTT A
wix, MR ERDTAEL L.

B# : “Python MIBIRE CTHRTHZS, NumPy 2
# numpy.corrcoef 3% O F L 7-.

In[6] : import numpy as np  #NumPy O i A A M
In[7] : np.corrcoef(data[ taste’], data['glutamine’])
Out[7] :
array([[1. ,0.40942512],

[0.40942512, 1. 1

BH : 7, #oET, RizIhn?

A A 040942512 2SHBIRE D & 5 T A

BE : BEOWMHI RO, A, fEHIITEX S
AT

XHF:borursazeflioTh, IdH, TALGDA
72X

scikit-learn CEEIIG 3T

ASA I, HUERGHOR) FEFRRXTHAE L.
“python HLIMJGE 53T T3 % &, scikit-learn & W
IETV 2= NVEMoTHwEHNLEL SANRTEE
Fia.

X #¥% © scikit-learn & V9 O IIHEW S 0B CTHW 5 8
BEAEOEY 22k REOEKSE 7— 4T
HEHEINTWAS, HE, fliv)id Python o FWDT
JEFICHAL L), FFTEEY 2 VEZRAAD ).

In[1] : from sklearn.linear model import LinearRegression

X#dz : ROWLT, LinearRegression() &) 7 F A
DA VAY YA RERT 5.

AW 978 105 (2019)

In[2] : Ir = LinearRegression()

ASA T TINRATIINALLDLL, EDEVIDLMND
THA.

X#IZ A7V 27 MEAIZCENFHELVA L= Z0Hh
. ZZTIEZ )W VA Python 53w o TZ
ERFEATBWT. T, ZOloTWIAL VATV
AW H VAR E BV LT L.

9, HWZEZ K Dtasteky & v ) B, SHEK
? glutamine Z X\ ) ZHUIZ T ZHAAL L 9.

In[3] : y = data[‘taste’]
In[4] : X = data[['glutamine]]

TOLE, XEF[ASEIC R 5T B AICHE,
1 HE72L glutamine 7— ¥ 4K & 72 L 72 A b, 2872
L glutamine 77— % K E R LW T —45 7L —
LAMELN .

Rt AV Y RCHEGH 21T, $5 &, Ircoef
Irintercept & W BN TE TZ IR KLU O
AW END. 7y —Ra7i3EERE LwvwHZ
ERHRTH7:DIZO0WTWLD7EE S,

In[5] : In.fit(X,y) # [l 50#r 2 9247
In[6] : Ir.coef #4R%% £mR
Out[6] : array([0.01192606])
In[7] : Irintercept #Y)F % FoR
Out[7] : 27.008750955430767

HiG AT OFEH [taste] = 0.0119 * [glutamine] +
27.0087 & 7% o 7z, RERBE RIS 21213,

In[8] : Ir.score(X,y) # e tr ik % 554
Out[8] : 0.16762892498873228

TilHT& 5.

B# : data[['glutamine’]] & \» 9 $BE &, FREAE S
TERRENLOBRRZILWVWTT A ZRATRAT
Lx)?

X% ROERIRGHTTD O B2 bh b EE).

EEES
X¥Iz 0 Tld, BRROIICED 9 ». 720 LI, glu-
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tamine & methionine D 2 Z M TR > THh L .

In[9] : X = data[['glutamine’, ‘methionine’]] #glutamine,
methionine 7 —% 7 L — 24
In[10] : X.head()# T & 7= 2>Hf 32

. EERH % L7 o, RIFEHGER, T Lo 2
2L REET, vy Jﬁﬁﬁéﬁ*ﬁ%@pﬁﬁ%éﬁ ~
MUV A T AT e

BE : WS bHLRELTHRTHIHETZI R

X#3z: Pz L T)
scikit-learn ® LinearRegression {2 (& p fifi & X % B
M7z 727, scikit-learn @ H 1Y 1 fE A BRAH

...... fi%bik“

TR V.

Out[10] :
glutamine  methionine
0 2162.3 300.0
1 1939.8 243.8
2 2101.8 357.2
3 2552.3 301.2
4 2051.8 285.7

In[11] : Irfit(X,y) # 1)@ 547 %
In[12] : Ir.score(X,y) # Pt % 5150

JEr—

FAT

Out[12]: 0.5746138651263601

BEA  RERBD PRI EL X LA,
Xz D E I 10ABAMTEBITZIHTL X 9.
In[13] : X = data.drop(“taste”, 1)

ZELCTPMT2MEREEL 2 ERAED, FIICHE
L5523 MERERAT, EWHFNIHRR, o1k
EVEMFETHETIEHI VRO ord Lk
W, BaAlZStatsModels E W) EV a— VR &
RoIZWRNIASTE A5, RoThLI.

In[17] : import statsmodels.api as sm #StatModels ® 1
YAR—F

In[18] : model = sm.OLS(y,X) #y, X (Z D F 49
In[19] : results = model fitO# 7 4 7 4 ~ 7 E4T

In[20] : results.summary()# #4271

OLS Regression Results

Dep. Variable: taste R-squared: @.998

el: oS Adj. R-squared: B.997
Hethod: Least Squares F-statistic: 1803,
Date: Fri, 12 Apr 2019 Prob (F-statistic): 9.668-25
Time: 22:29:06  Log-Likelihood: -68.830

o, tasteFI DA & drop (F& L72) 7—% 7
L—2% gD, RED LIZFITTH &) .

In[14] : Ie.6t(X,y) # B& 554571 % F247
In[15] : Ir.score(X,y) # e iz 555
Out[15] : 0.8313844202072022

Ir.predict(X) TZDYFX Ty Z FHTE 5. Xz
THME, Y i ERERUERAE & LT 51213,

In[16] : pyplot.scatter(Ir.predict(X),y)

..
.
60 * @ -
s .
°
55 [
. e .
o9
50 .
®
°
451 e * .
40
.
o a5 50 s ©

AZSA DR DE->TEFE LA L, fit(), score()
2D OWXHIGE T, EEJESHTHHERATT
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No. Observations: 3@ AIC: 157.7
Df Residuals: 28 BIC: 171.7
Of Model: 1@
Covariance Type: nenrobust

coef std err t P> |t| (@.825 .975)
glutamine 0,895 9004 2.498 B.021 ©.802 8.018
methionine @.8796 8.926 3.861 B_086 @.825 8.134
alanine @.8011 0.002 @.672 9.509 -0.002 ©.005
tryptophan -@.8412 8.831 -1.334 9.197 -@.106 8.823
lysine 9.821e-05 8.086 @.017 @.987 -@.e12 8.012
leucic_acid 8.0644 8.033 1.934 @.067 -@.085 @.134
malate -@8.8139 a.883 -4.884 @001 -@.821 -8.087
citrate 9.8025 a.e83 e.728 @.475 -@.8a5 2.e18
pyruvate -8.8918 2.885 -2.380 e.7e8 -2.812 8.088
succinate @.0003 @662 @.160 8.874 -B.003 ©.604
Denibus: 1.219 Durbin-Watson: 2.272
Prob{Omnibus): @8.544  Jarque-Bera (J8): 9.914
Skiew: 8.987 Prob(JB): 8.633
Kurtosis: 2.163 Cond. No. n.

BE : TNR-I1ZVER, HICR-72E ) 5P LT T
P>t[ 3p i 72 O T Z NA30.05 & 1) 7 E v glutamine,
methionine, malate 2S¥FHT& 2 O 7z,

ASA TEPOTATL LY.

In[21]X = data[[‘glutamine’, ‘methionine’, ‘malate’]]
#glutamine, methionine, malate D7 — % 7 L — A
In[22]Ir.fit(X,y)

In[23]lr.score(X,y) #UEEFREL

Out[23]: 0.758102800533946

AR 978 551075 (2019)



ASA 3OO THERE0.75 O ERIGFE T
VB TEF L7

Za—Jlxy b I7—9

X¥d% : Tid, scikit-learn CilEATA L ). T 2 Tid,
M2 VHHIZE b2, DN EZ R TIELw. H
KBDOT =5 3BV %§TZELDT, TYADT—%
v b (Iris) 25, 3HOT Y ADILDS, 2D
FeESOTF—7 M50k >, 51501 1E0H 5.
ZOFAMHTFT—% & L Tscikit-leran€ ¥ 2 — )V 23
HAELTINTWEDRL, e fis).

In[17] : from sklearn.datasets import load_iris #Iris % #it
ARIALTZODE Y 22—
In[18]irisd = load_iris() #Iris % irisd |2 @i A .

XEZ : DXL, PDBERSIDT—IH b5,

TYAOMEZFHT b= —FNVEAy VT =2 %
fEoTH L.
9, EFMVERMH QI (training) 7—% &, €7
VOWRET A MNIOT—5124#$ 5. scikit-learn
X7 — & BV O B g train_test_split2sd 5.
TRCTldirisd.data (FEPIZEL), irisd.target (PEEZ %)
27 YT MIRELTING.

In[19] from sklearn.model selection import train_test
split

AW 978 105 (2019)

In[20]X_train, X test, y train, y test = train test
split(irisd.data, irisd.target, test size=0.3)#7 X b :
Al = 371257

X #¥# © RIZMLPClassifier £\ 9 7 5 A0 = 2 —
VA2 S RNWART &

>>> from sklearn.neural network import MLPClassifier
>>> clf = MLPClassifier(hidden_layer sizes =
(100,100,),s0lver = “sgd” ,max_iter = 10000) # k&g 23
D=2 —=F Ay bT =7 R

clf.fit(X_train, y train) #3l#i7— TrL—= 7
clf.score(X testy test)#7 A b7 —%TT A b
Out[244]:0.9777777777777777 #97% T—3L.

AZ A b \EHEHH & IFIEHECFMT, fit(),
score() #ffioTT& B ) ATTA.

X#JZ : =a—I 0ty hT—=rwoTHHERE, H
WG AT & W U722 X, hidden layer sizes %% 2 Tik
LCHbE, IR 5b. WEH6 L[S
AT S 2L XD,

AZSA T BLATY.

SE 3

1) #efid %, & BEE EfS : Python THYRS 5 #iaHE
HroJkuE, Bafratamtt (2018).
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